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Complementary angles are angles that add up to 90°.
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Supplemeilt"ary angles are angles that add up to 180°.

a+h=180
140°

40° 2

h )

Supplexacntary angle

) T B le:Pairs;
+ Words  Adjacent anglis are two angles that lle In the same glane, bave a
common vertax, and 3 commen sikde, but no common Inteclor polints,

Supplementary angles can also be
* Examples

called a linear pair (a pair of angles « Homexarmples
. o LARC and LCBD LABC and £LABD LABC and LBCD
that form a line and add up to 180"). 5
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A

B (shared interiar}]  {no commion veriex |
» Words  vertical angles are two nonadjscent angles formed by two intersecting
Iines,
A d 1 2 hY v Examples + Honexample

< B 7C LAEB and L.CED LAED ang £BEC 6
LAED and £LBEC . E____..-""“"'.

A 4'/1—' ‘\\

$1and %2 f :
a orm a 0 _~E c od ip, e
) ) * are poncalinear.
linear pair. .

VERTICAL ANGLES ARE CONGRUENT

All 3 angles of
a triangle add
up to 180°.

& 0 |

360

e

a0 + 60 + 60 =180 30+ 90+ 60=180 30+ 130+ 20 =180



The diameter of a circle is 2 times the
radius. d = 2r

m

The circumference (perimeter of a circle)
found by the formula

Circumference = 2nr

The area of a circle is found by

Area = 7r?

Ex 1: If the radius of a circle is 5 what is the
circumference and the area? (Use 3.14 for =)

& units

Sometimes you can express your answers in terms of .
For example if the radius of a circle is 4, then the circumference is 8« and the

A=16~x

This is used when you do not have a calculator to insert the correct humber
for ar.
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Types of Triangles
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Equilateral triangle: All angles are the same (60 degrees)

60
éd) 60%

Isosceles triangle: Has two angles the same and two sides the same

Right triangle: Has one 90 degree angle

40°
O_ 0

0 l‘

Scalene triangle: Has all three angles and all three sides different

/%\O\
as 151

Obtuse triangle: Has one obtuse angle, greater than 90 degrees

0
The sum of all angles in a triangle is l 8( ) degrees.
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Complementary and Supplementary Word Problems
Show all work!

1) The supplement of an éngie is thirty more than twice the angle. Find the measure of
the angle and its supplement.

t30+X =180 ?130°
_o?;aj'o% . CQ% 3)(—1-303l %0 | 50 '3
Ix =150
X = 50 S
2} An angle is one-third ifs supplement. Find the measure of the angle and its
complement. i -
“3')('!-)(—’80 -6 L_I,So
? x/‘/): 3, Sy - 1502 45,49,
3 CE0 > ¢ 30T q
X=135"
—%= 45"

){Find the measure of an angle whose complement and supplement sum {o 194
degrees. '

4} -An angle is 25 less than its complement. Find the angle, and ifs complement.
o .
] ”@1 XtX-a5:q0 D 1.5,3d.5°
= A% =\D
X=517.5

5) One of two supplementary angles is 35 degrees more than twice the other. Find each

angle. _ — .
5x¥35=180 (g3 13) ],

/ 3x= 145
X °N\L3§,\ . x;‘-l‘ﬁ,'?)“

i~




8) An angle is 30 less than half its complement. Find the angle.

XJr"‘E*X@’”JBO:fSO
—gzy %X: SO ~2

3 o
® ~ by iT Z-f
| £z X=140 0
& o ! . _
+UH0) -30
Find the measure of an angle whose supplement measures 6 degrees more than four
times its complement.

What is the measure of an angle whose supplement measures 32 degrees more than
fwice its complement?

9) One of two supplementary angles measures 65 degrees more than half the other.

Find each angle. :
oA X+Fx+b5= 180

2x+(57180
X A Fxt65 2 2, 15+2

X="To.b

<

Tl °, 103.3




Fun Geometry
Angle pairs worksheet

Lx=_ | mA’ABD=1&

N HA=E%A5
(Q=2%-15
X=17

5. ZKIM and ZMJP area lincar pair,
Draw a picture.

mZKIM = 6° and mZMIP = 3n+9°

(0+3n+q:l‘5’@

=165

_ n=55

n=55

M

b B9

<£ T "’;/

Namc:

2. x= \ I mAFGH=_m0

H
. S5x +12°/730 .

il
-«

F G K
M .
Bx-+12t73=130
65X+t 85130
5% =95

x=19

s x=_{p mADBéx IQ{QQ

D 4
k+1085°24°+7k

™

A B C

k4108 +ad + Tk = 180
FE. 4132 =180
G =43
L= ©

-

6. AB and DC intersect at point E. E is
between A and B. B is also between D and C
Draw a picture. '

m/AED = 3p and mZCEB =p + 30°

BP: P'f 3¢
LpF 3¢




Geometry

Angles and Circles

Find the measure of angle b.

1) \

Y

L 31"

3)

b
43°

4T

/

Find the value of x,
5)
(4 + 7)°

(5x+2)°

bx+3 +Hx+71<90
Ay +G =40

X=9

Name

Date

2)
b=37°

4)
h=33"

6)
:\ ™~ X T 2y

ytAx+a =90
gx+a=A0

X =



7

\/k
70 )

¥+17+46=90
Xt =90

X=

Find the measure of angle b.

)]
[ b= (0"

Find the value of x.

8)

54°
@ x

AU +G#X=90
X=adl

10)

b=105°

X (Ex+ 4y

TH +bxtH = 180
6(:[0&
X::l_-l

12)




13)

{6x+3)° ¥

(¥ t3+39=180
X=d3

15)

/72 xn

Ly =T2
X = &’-’

17)

O%+3+loxr) =180
Uty =15¢

X=1l

14)

- ' (th

It E+Y +5% = 10
Gxt1a=180
X=a |

16)

86°

Elo= HX+
X=a

//*-4)‘

g+ 3% +4 =180
X=19

18)




19)/\ 20)7—4
X X6t 4xt] =1 §0
DX=15 \/ 5 ~15<18§0

x=4 X=39

Find the circumference of each circle. Use 3.14 for the value of n. Round your answer fo the

nearest tenth. C, - & TT\ r

21) 22)

C—" 57. , Yd

C231.H m
23) 24)
ColqH# % C=18.% yd
25) radius=7in 26) radius= 10 cm

C=HY in C= 0§ con

27) diameter =4 ft 28) diameter = 22 ft

C= 196 fr C=6a.) 4+



Find the area of each. Use 3.14 for the value of . Round your answer to the nearest tenth.

RV ar ¥
29) ‘ 30) AT

' A= ‘ &
A=453. 3 mi? Asloea m

31) _ 32)
= r=11.3

2281t

D
P

a3 1.C‘-x;l
Azla-lrt A= Hol H*

33) radius = 9.6 ft 34) diameter=21km [= (0. S

Aza89. 1> A 3962 o

Find the radius of each circle. Use 3.14 for the value of 7. Round your answer to the nearest
tenth.

% area = 201 mi? }&)’ area = 28.3 m?

A0)1=3 i4r? /

bh.0 =72
% circumference = 12.6 mi }{ circumference = 60.9 cm




ID: 1

Triangle Review Name

Date Periad

" Find the area of each. The area of a triangle is found by taking one half of the base times the
height. The height meets the base at a RIGHT ANGLE! }ﬂ\" 'éf b-h

2)

4)

2cm

A=H.T em”

6)

4. cm - 6cm
9cm
A=q.HH em?

ST Emi

1 mi

AsHTH mi*

Find the value of x.

R 12 8 ‘Ox.l_l—{- )9\21'1‘9-_):,8/0

{10x + 1)°
i22°

| %t ng+ab =80
Q% +14H =130



3230 +10x-13=18C | T+ Ux 1§12 160

e 502150
\W{ﬁ:a Hx 180180

Classify each triangle by its angles and sides. Use your reference sheet to help you!

/\/;qun}meml AN x Scalene A\

e

Obtuse A
Staiene A

r \3\’”} A/L Q | sosceies &
1s0SCe 185

11)

13)

Obtuse A
1Soscetes A

15)

17 18)
rign A
Scalene A

SCalene A




